
©
 V

er
la

g 
E.

 D
O

RN
ER

 G
m

bH
  |

 ©
 V

er
la

g 
Ju

ge
nd

 &
 V

ol
k 

G
m

bH
  

Auflösen von Klammern in einem Produkt  
Lösungen 
1. (a + b)⋅(c + d) = a⋅c + b⋅c + a⋅d + b⋅d

2. a) b)  

(a − b)⋅(c + d) = a⋅c − b⋅c + a⋅d − b⋅d (a − b)⋅(c − d) = a⋅c − b⋅c − a⋅d + b⋅d 

3. (I) (II) 

4. a) (x + y)⋅(z + t) = xz + yz + xt + yt b) (x − y)⋅(z − t) = xz − yz − xt + yt

c) (x + y)⋅(z − t) = xz + yz − xt − yt d) (x − y)⋅(z + t) = xz − yz + xt − yt

e) (s + 4)⋅(3 − r) = 3s + 12 − rs − 4r f) (3d − 2f)⋅(e + 2g) = 3ed − 2ef + 6dg − 4fg
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